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B.Sc. IV SEMESTER [MAIN/ATKT] EXAMINATION

JUNE - JULY 2024
ECONOMICS

[Basics of Micro Economics]
[Open Elective]

[Max. Marks : 60] [Time : 3:00 Hrs.]

Note : All THREE Sections are compulsory. Student should not write any thing on question paper.
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[Section - A]

This Section contains Multiple Choice Questions. Each question carries 1 Mark. All
questions are compulsory.
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Q. 01

Q. 02

Q. 03

What is the equilibrium level of income as per given data for an economy -

C=50+0.8 vd, T=20%, 1=100, €= 30

TF ST & o fid T idel @ STHR oMY & e Wik 94T 2 -
C=50+0.8 vd, T=20%, 1=100, €= 30

a) 400 b) 500

& 200 d) 600

Which of the following can be considered as leakage in Multiplier Effect ?

a) Higher propensity to import b) Higher propensity to saving
¢) Both (a) and (b) d) None of these

ffaRad 5 ¥ &9 Iue g9E H§ REE & w9 9 79497 S 96ar 3 —
a) SR BT IeacR UghT b) TId BT ITIR YR

©) (a) &R (b) T d) [RIK § H PIg T8
Keynes's economics given more emphasis to which of the following -
a) Monitory policy b) Fiscal policy

¢) To determination of interest rate  d) Long run analysis.

FHE BT ALRA AOH It <l 3 —

a) Hifgws Mfa W b) IR WA W

¢) 9 &8 P AN W d) DEFRRNT Ao

P.T.O.



Q. 04 Philips curve establishes a relationship between which of the following -
a) Money supply and aggregate b) Taxes and Inflation

demand
¢) Inflation and Unemployment d) Price and cost of goods
forfore 9 et o 9 e Aeg ay wenfud @=ar 8 —
a) HoT YA UF Hel AN b) B Td T I
©) HaT Whifd Ud SRHTRY d) I P HHd Td AN

Q. 05 The correct sequence in which the phases of the business cycle occur -

a) Reform, Expansion, Recession, b) Reform, Expansion, Depression,

Depression Recession

¢) Reform, Recession, Depression, d) Reform, Depression, Recession,
Expansion Expansion

IR Teh & TRV S bied B BT Hal A gdd —

a) GuR, IWR, srgHed, Hal b) WuR, f[IwR, Hal, sraHe

©) WUR, sfgHed, Hel, fawdr d) uR, qal ergHed, fawmr

[Section - B]
This Section contains Short Answer Type Questions. Attempt any five questions in this
section in 200 words each. Each question carries 7 Marks.
T WU H AHSTN U £ 39 |vs # Bl uid uedl & 7 | v IO% 200 weal
ford | ud® W 7 D F 7|

Q. 01 Differentiate between micro and macro economics along with their inter
dependence ?

T Td FARAT demes § 99 &Rd gu W Hiey & ¢ 9

UREIRE F¥Rar 2|

Q. 02 Define National Income. Explain the pattern of income flow in two sector
economy.
LT g #Y R SRy | fgeEg srefareRen | g ydiE & ey B
WE BN |

Q. 03 General Overproduction and General Unemployment in the economy are
impossible. Discuss ?
e § WHg 3fcgRared Yl WENE dRISHIN 3e 27 fadee

HIoTY |

Q. 04 What do you mean by MEC (Marginal Efficiency of Capital) ? Explain the
factors affecting MEC.
Ooll @1 UHd AT W T SN & 7 gH YA R dlel BR$B DI
GRAT HIST ?
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Q. 05

Q. 06

Q. 07

Q. 08

Explain the causes of cost push inflation. Also explain the methods of
controlling 1t ?

T URT WY © Rl g famer &1 gt & arar IR |

Short note on fewol I -
1) CPI i1) WPI

Diagrammatically explain the liquidity preference theory of interest ?
TS TReAdT g fAgid &1 Al arRan S |

Explain the measures adopted to control the Business cycle ?

R b B FRIGE B 3G U S dlel SU™ &1 ARAT I |

[Section - (]

This section contains Essay Type Questions. Attempt any two questions in this section in
500 words each. Each question carries 10 marks.
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Q. 09

Q. 10

Q. 11

Q. 12

Explain the concept of National Income Accounting. Describe the methods
and difficulties of NI accounting ?
S AT i B AGIRUT DI FASA gU MG 3 i@ip o1 g

T Hfo-gdl IS |

Discuss Keynes's theory of employment and explain the extent to which its
tinding apply to least developed countries ?

H B AR FFT & IR = g0 W P F FF A a6
598 e orey e <o wR oy 8 2|

Explain and critically discuss Hick's business cycle theory ?

fEad & AUR =k R &1 AR HA U SAITRAD Ao T S |

Explain the simultaneous equilibrium in product and money market with
help of the derivation of IS-LM curve.

IS-LM 956 &1 geufcd @l 9uF #Rd 87 g% Ud o1 d6iR H Tdh oY
Ao B IRAT HIford |
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